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2017-JAN-01
Class E TempO Station 1 Station 2 Station 3 Station 4 Answer

C B F D Z 1|bD Z A E B 5|C A F C E 3|2 Z Z F B 4 |used Penalty|Total
Rank Name 1 2 3 4 5 SecJl1l 2 3 4 5 Secl]1 2 3 4 5 Secll1l 2 3 4 5 Sec|Time Time [Time
1] 1016 |E=EAEER c|B]lJ]F]Db]lz]so]DjJc]lA]JE]B]|3]JC]J]A]F|D]JE]J7’]|Z]|DJE]F]B]39]19.0[ 120 |319.0
2| 1011 [EBSCHE c|BlJ]F]Db]lz]e]|DJclz]|]E]B]|s8JC]J]A]F|lclE]8]|z]z]z]|F]B]S54]2600[ 60 |3200
3| 1017 | B4 #HEEY clz]lF]lpblz]|a]|bplzlz]|]E]l]z]|31Jc|A]lFlz]lz]39]|z]zJE]|F]zZz]39]1520( 210 |362.0
4| 1020 [FFARHE cl|Blz]|pblz]s2]|DjclA]JE]JZz]J4JCc]J]A]F]lclE]es]|Zz]|D]JE]|F]B]G60]2160[ 150 |366.0
5| 1015 [ZE1ER Cl]AlJFlE]z]s0]lDjJclA]JE]J]Z]43)JCc]J]A]JE]JC]lE]J60O]Zz]z]zZz]|F]B]J]G®69]|220[ 150 |372.0
6| 1012 |Z2EE ClAlFlz]lz]4a]|D]|BJAJE]Z]|3d]JCc]J]A]JE]|Z]Z]30]cCc]lz]z]|F]B]J]44]|]1490( 240 |389.0
7| 1006 [FEE) EJF]F]D]lz]3|Dlz]A]JE]JC]31]c]Blz]z]D]|37]z]ID]J]E]|F]|B]29]1270] 270 |397.0
7| 1008 | ME C|BlFlz]lz]4]|D]J]AJz]E]|B]|s]|D]JA]J]z]|]c]lE]61i]|Cc]lz]z]|F]B]>51]2170( 180 |397.0
9| 1007 [{A[#ESE cl|BlFlz]lz]3s]|DlJclz]E]Jc]|3w]lcw]E]|z]z]J4]|clz]z]|F]B]J]42]1580[ 270 |428.0
10| 1014 |[{fiFEEE EJB]J]F|DJEJ42]|D]IB]J]A]JE]JC]I31]|z]A]ZzZ]|D]JE]4 | Zz]ID]J]E]|F]|B]41 ]|1620| 270 |432.0
11| 1024 [=ER c|BlJF]l]E]z]6]|]DJc]l]A]J]E]|B]J44]D]JA]J]F|]CclE]6s]|C|DJE]|F]Zz]56]2280[ 210 |438.0
12| 1004 | EJc]F|D]lz]s2|D]lBl|A]JE]J]Z]J4|ZzZ]A]F]|ID]JE]4 | Zz]ID]J]E]|F]B]57]|201.0| 240 |441.0
13| 1002 [ 7EHAL c|BlF]|Db]lz]|s3|DlBlJAJE]J]Z]72)JCc]J]A]JE]|C]lE]J7]|Z]|DJE]|F]z]71]2720( 180 |452.0
14| 1022 |Fre{E £ EJz]|F]|D]lz]4a2]|D]Jc|Bl]E]JA]64s]|C]A]JF]JClE]97 | ZzID]|]F]|F]|B]®62]2650]| 210 |475.0
15| 1021 |5RAERK clz]|F]lpblz]e|DlJclA]JE]|B|lz]|A]lz]|clz]s]|z]zJE]|F]B]9 |29%0| 180 |476.0
16| 1023 | =T E ElBlFlz]lz]4a7|DJA]|B]JE]JC]57|Z]A]JE]JClE]43]Zz]ID]E]|]F]B]®60]270]| 270 |477.0
17| 1013 | B[S £5 ElB|l|F|lE]z]e|DJc|lz]|E]JCc]|3|c|A|F|lz]|E]|57|z]|D|E|F]|Zz]55]|2270| 270 |497.0
17| 1019 [=={&HH EjJz|F|D]lz]a]|DJc|A]JE]J]z]57|z]|A]|D|JzZ]JE]|]6o|JC)lz]|Zz]|F]|z]e67|2270| 270 |497.0
19| 1018 ||EEFE EJjc|p|D|DJ3s|DJc|B]l]E|BJ4|D]Jclz|DJE]|3|zID]F]F]cC]33]1530| 390 |543.0
20| 1003 |FHZA1L cC|BlFlz]lz]no]|DlJclA]JE]|B]Jalclz]z]|clE]Jus|z]|zJE]|F] z]|105]3840( 180 |564.0
21| 1000 |2 HTE Dlz]|Flz]|z]s5i]|plBlAlz]B]l7nlclzlz|lc]lE]99]|Zz]z]E]F]B]J]116] 340.0| 240 |580.0
22| 1005 | 2117 BlIc|lF|Dlz]ln|Dlcl|A]JE]|B]J7s|D]JA]JZJZ]JE]S7|JCc]ID]|]Z]|F|BJ105]342.0| 240 |582.0
23| 1001 [FHREE zlclzlc|pl3r|plzlclElz])25|z]z]|z]|E)Zz]|54|B]ID]|Z]|F|Z]58]1740| 450 |624.0
24 1025 | [ EJz]|FlE]z]s|Dlclz]|]E]|B]6o|lz]z|]FlA)JZz]oss|zID]|]F]F]cCc]so]323.0| 360 |683.0

No. of correctanswers] 12 | 11 | 21 J 13 ] 21 241 3 14123110 131171 9 |11 )17 17 110 8 |24 ]15

No. of correct answers in %] 50 | 46 | 88 | 54 | 88 100 13 1 58 | 96 | 42 54 171138)46 |71 71142 | 33 |100] 63

Average time used 51.8 50.8 64.7 61.9
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ClassE TempO Station 1 Station 2 Station 3 Station 4 Answer

B Z Z E Z 2)l2Z F € zZ D 22|z B E D € 2|A B € Z Z 23 |used Penalty|Total

Rank Name 1 2 3 4 5 Sec |1 2 3 4 5 Sec]1 2 3 4 5 Sec |1 2 3 4 5 Sec|Time Time |Time
1] 1017 | B4R zlzlz)zlz] 32 |AlJFr]lclzlIbp 4 |zIBlE|D]JC | 43 JAlBlCclz]|F]| 29 |1440] 120 |264.0
2| 1020 |FFAIE BlzlzleE]lz ]| 67 ]z]|F]lclz]lD |61 |z]|BlE]D]JC] 69 |ZzIB]C]Zz]Z] 50 Jea7.0] 30 |277.0
3| 1007 |f]#ESE zlzl1z|FlF ] 41 |AJFE]clzID 47 |zIBlE|D]Z ]| 28 JAlB]JClE]Z] 26 |1420] 180 |322.0
4| 1006 [FEHE) Blz|IBlE]|D |51 |BlFlc|plz]4 |z]|BlE]D]JC] 29 |AlB]Cc]Zz]|F] 29 J1540| 180 |334.0
5| 1011 | CHE BlzlzleE]lz ]| 60 JAlw]lclz]lD o1 |z]|BlE]lD]C ] 557 |Alz]clz]z] 45 2530 90 |343.0
6| 1016 | = FFEER Blz|lzlF]lD |58 Jz]lFlc]|plD |63 |z]|BlE]D]C] 48 |AlB]C]lE]|F] 29 J198.0| 150 |348.0
7| 1002 |SZREEL Blzlzlr]lz ]| 4 JAlrFlz]lz]lz]8 |z]|BlE]D]C ] 58 |AlB]Cc]z]Zz] 53 |2380[ 120 |358.0
8| 1004 |JEEMiE BlzlAlE]l z ]| 52 JAlF]lclz]lz |52 |plcleE]lplc] 6 |AalB]lclE]Z] 43 J209.0] 180 |389.0
9| 1014 [{HIEEE Blz|lAlF]| D] 44 JA]JF]c]|D]|D |3 |z]|BlE]JCc]lE] 37 |AlB]CclE]Z] 36 J152.0] 240 |392.0
10| 1019 |={&HH zlzlz)z]lz] 55 |AlF]clzlip]les |zIB]lD|Dlc ]| 6o IBlBlCclz]Zz] 69 |2500] 150 400.0
11| 1012 [ZAFME zlzlAlE]l Z] 558 |AJF]DlzID I8 |zIBlz|FlE]| 3 JAlB]JCclE]Z] 33 |183.0] 240 |423.0
12| 1021 [FRERK zlzlz]|E]lF ] 60 |AJF]clzID 59 JzIiBlclzlc ]| 3 JAalBlclz]z] 92 |2840] 150 |434.0
13| 1022 |PrfEEE zlzlAlJE]lF ] 60 |AJFE]DlZY Z )3 |Jclz]|E]|DlJcCc |66 JAlBlCclz]z] 45 |207.0] 240 |447.0
14| 1024 |EEA Blz|lzlz]|F |66 |z]F]lc]|D|D |5 |D|Blc]Dp|D] 62 |AlB]ClE]|F] 44 J227.0] 240 |467.0
15| 1013 |Bl)EEE z|lzlA]lF]l D] 65 |AJF]clzlID |60 |AJz|E]|DJcC | 72 JAlz]clz]|F]| 52 |249.0] 270 |519.0
16| 1015 [ZE{EAR zlzlAale|lF |l 70 lalFr]lclzlz]|5s4a]z]|slplc]lz ]| 4 Jalz]c]le]z] 64 |232.0] 300 |532.0
17| 1023 |=HTE BleE|lAalz]|F |60 |B]lz]lc|D|z |61 |B|BJE]Cc]Z]| 67 |A]lB]C]E]|F] 51 |239.0] 390 |629.0
18| 1001 |[{HREE(GUESTIB ) zIBlZz| z ]| 38 |zlFlc|plz |3 |zlz|F|D|lc | 4 JAalBlz)z]z] 37 |1520] 240 |392.0
19| 1025 | 2FPEGUESTIB | z]A]lz]| D | 48 |z]|F]z]|D| D] 68 |B|BlJE|JF]cCc 53 |z|Blclz]|z] 45 |2140| 300 |514.0
20| 1018 |EFTEBGUESTYBlE|AlZ| Z | 29 |A|lF|ZzJE]JE ]| 35 |A]lB|Cc|lE] Z] 31 JAalB]lcID|F| 27 |122.0| 390 |512.0
21| 1003 |PsZZT(GUESTY z |z Al El D J1uo |z F]lclzlIDp o |zIB|lE|DJcCc | 75 [A]lBlclz]z] 58 |339.0] 120 |459.0

No. of correct answers] 121191 9 | 9 9 6 ]19]116]13] 13 14117114 )14] 14 1811812012114
No. of correct answers in %| 57 | 90 | 43 | 43 | 43 29|90 76 |62 ] 62 67 |81]67 |67 ]| 67 86 |86 |95 |57 |67
Average time used 55.7 56.9 52.9 45.6
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rHSHRAE - V1E
Class AC TempO Station 1 Station 2 Station 3 Answer
E B Z A 11 |D A Z zZ| 12|2Z Z E D 13 |used Penaity [|rotal
Rank Name 1 2 3 4 Sec 1 2 3 4 Sec 1 2 3 4 Sec |Time Time Time
1| 2005 |EkJK ElB|zlz] 54 |p)lalelz]| 73 || z |z |p] 117 | 2440] 120 364.0
2| 2004 | SR z|slclz] 4 |p|alz]|z]| e |D| Az ]|z]| 43 | 1560 210 366.0
3| 2009 | EEAY Dlc|p|B]| 47 |c|Aa]leE]|B] 3 || A |D]Jc]| 49 | 1320] 330 462.0
4| 2006 |5 = Elz]lclz] 67 |p]lz|z|B] 79 |A| A |z ]|D]| 120 | 266.0| 240 506.0
5| 2007 | P cle|p|x] 1220 |Aa]a]lc]|B] 8 |Jc| A |D]|B]| 3 | 2380] 300 538.0
6] 2008 [FEREE Dlc|alB]| 8 |E|Aa|D]|B] 8 || z |c|z]| 104 | 2730] 300 573.0
7| 2011 | 2B Elc|lalz] 98 | z])eE]F]|B]| 99 |c] B |E]Zz] 1122 | 309.0] 300 609.0
No. of correct answers 313111]0 31512 2 0 2 1 2
No. of correct answers in % 4314311410 43 1711291 29 0 |286] 14 129
Average time used 74.4 73.7 83.0
LrHSHRAE - RE
Class AC TempO Station 1 Station 3 Station 3 Answer
D B C F 6 Z B F C 8 Z A C Z 9 |Used Penalty [Total
Rank Name 1 2 3 4 Sec 1 2 3 4 Sec 1 2 3 4 Sec |Time Time Time
1] 2005 |/E K JIK cle|c|]F]| 52 |z|B]eE]|D] 73 |z| A Jc]|z]| 8 | 2110 90 301.0
2| 2008 | REHE Ale]lc]F] s7 |p|BlF]lc] 76 |F| A ID]z]| 55 | 1880| 150 338.0
3| 2006 |35 = Dlz|z]|F]| 63 |z |Aa]lz]c]l e |z]| z |clz]| 68 | 1930] 150 343.0
4| 2009 | LY Dlclz|F] 35 Jclalclz]| 54 |F]l A lcle] 47 | 1360] 240 376.0
5| 2004 |FRIEE zlz]|c]F]| 8 |z]|B]lz]|Dp|11]z]| z |clz]| s | 2390] 150 389.0
6| 2007 | P el cle|p]F]| 53 |Blc|p]lz] 76 |A]l z Jcle]| 79 | 2080 270 478.0
7| 2011 |22 B clelp]le] 91 |c|B|F|D |16 |A|l F |D]Zz]| 73 | 2700 270 540.0
No. of correct answers 21213]6 31412 2 3 3 515
No. of correct answers in % 29129143186 43 1571291 29 43 1429171171
Average time used 58.4 78.3 69.7
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HEA: 2017-JAN-01
Class AY TempO Station 1 Station 2 Station 3 Answer
E B Z A 11 |D A Z ZzZ 12 |z Z E D 13 Jused Penalty|Total
Rank Name 1 2 3 4 Sec 1 2 3 4 Sec 1 2 3 4 Sec [Time Time |[Time
1| 2001 |25 ElBlc|Aa]l 40 |c|z]E]Z 79 |z| A lE|D| 51 J1700| 150 | 3200
2| 2003 |29l ElcIDp|B] 74 |DJA|lE]|B]| 64 |Cc| A |c|D| 54 J1920| 240 | 4320
3[ 2002 |3t A plzlz]lz]| 68 |Alalz]|B | 107 DATA LOST 175.0 270 | 445.0
No. of correct answers 2 1 1 1 1 2 1 1 1 0 1 2
No. of correct answers in % 67 133]133]33 33 |67]133] 33 33 0 33 |67
Average time used 60.7 83.3 52.5
= = N
BESRAE - RE
H1: 2017-JAN-01
Class AY TempO Station 1 Station 3 Station 4 Answer
D B C F 6 Z B F C 8 Z A c Zz 9 Used Penalty |Total
Rank Name 1 2 3 4 Sec 1 2 3 4 Sec 1 2 3 4 Sec [Time Time |[Time
1| 2003 2915 eElslc|F]l s1 |plslelc| 4 |F| A |Jc|p]| 38 |1330| 150 | 283.0
2| 2001 |SEFEEH Elalz]|F] so |z]|B|F]lD]| 58 |F| A Jc]lz]| 6 |179.0] 150 | 3200
3| 2002 |FALSC AR Flslrlz]l 67 |Blz|lclz] &5 |z]| A |Jc]lz]| 4 [|1730| 210 | 3830
No. of correct answers o12111]2 1 211 1 1 3 3 2
No. of correct answers in % 0 |67]133]67 33 167]133] 33 33 ] 100 J100 )67
Average time used 59.0 55.7 47.0
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HEA: 2017-JAN-01
[Class BO TempO Station 1 Station 2 Station 3 Answer
E D Zz 17 B F Z 18 C E Zz 19 |JUsed  Penalty |Total
Rank Name 1 2 3 Sec 1 2 3 Sec 1 2 3 Sec JTime Time [Time
1] 3016 |FRH== E|lp|[B]| 97 Blz|lc] 91 Jz|E |Zz]| 73 261.0| 120 | 3810
2| 3019 |FRIRE z|lz|B| 64 Zz|z|z] 120 || D |z | 48 232.0| 210 | 442.0
3| 3022 | =G c|D|E 89 cleE|lAa] 78 Al E | B]| 99 266.0| 180 | 446.0
4| 3020 |Andy Wong A|lF[B]| 100 |D|E]|C]| 86 D| D |E]| 93 288.0| 270 | 558.0
3017 | 58S cleE|A]| 51 DATA LOST z| D |z ]| 112 0.0
No. of correct answers 1121]0 11111 0 2 3
No. of correct answers in % 20140} 0 20 120]20 0 40 | 60
Average time used 82.0 93.8 85.0
~EYIERAE - RE
HHA: 2017-JAN-01
[Class BO TempO Station 1 Station 2 Station 3 Answer
E Z B 14 D zZz A 15 Z E D 16 JUsed  Penalty |Total
Rank Name 1 2 3 Sec 1 2 3 Sec 1 2 3 Sec [JTime Time [Time
1| 3016 |FRTH=E pDlclz| 75 D|F|[A] 67 |A| E |D| 53 1950 | 150 | 345.0
2| 3019 |[tRIEE Dlz|[B| 76 B|D|lz] 5 |c|D|[z]| 43 169.0 | 210 | 379.0
3| 3017 | 5EEES z|lz|Aa| 69 Blz|z] 66 |p| z |z]| 67 202.0| 210 | 4120
4| 3022 |H=IIE D|B|A]| 107 |B|E|A] 71 Al c |c]| 99 277.0| 240 | 517.0
5 3020 [Andy Wong FlB|lc]| 102 |B|F|E 61 B| z | c| 112 | 2750| 270 | 545.0
No. of correct answers 01211 11112 0 1 1
No. of correct answers in % 0 140120 20 |20 J40 0 20 | 20
Average time used 85.8 63.0 74.8
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H i - 2017-JAN-01
Class BY TempO Station 1 Station 2 Station 3 Answer
E D Z 17 B F Z 18 C E Zz 19 Used  Penalty [Total
Rank Name 1 2 3 Sec 1 2 3 Sec 1 2 3 Sec [Time Time Time
1| 3007 |[BE5E Elp|z 47 BlF|z 59 c|l e |a 32 1380 30 | 168.0
2| 3004 |ZEFE(E Flz]|B 30 BlF|z 39 c|l e |a 27 960| 120 | 216.0
3| 3001 [AIfEFH E[{p|B 62 B|F|z 60 z| E|B 42 1640 90 | 254.0
4| 3003 | ERF E[D]|B 54 z|F|E 44 D| E|D 32 1300| 150 | 280.0
5| 3008 |BEFEfH E[D]|B 44 clz|E 57 E| z |B 49 1500 210 | 360.0
No. of correct answers 41411 31413 2 4 0
No. of correct answers in % 80180120 60 | 80 ] 60 40 | 80
Average time used 47.4 51.8 36.4
SEYIRA - RE
HH: 2017-JAN-01
Class BY TempO Station 1 Station 2 Station 3 Answer
E Z B 14 D zZz A 15 Z E D 16 Used  Penalty |Total
Rank Name 1 2 3 Sec 1 2 3 Sec 1 2 3 Sec [Time Time Time
1| 3007 [52E Elz]B 60 D|F|A 69 z| E|D 72 2010 30 | 2310
2| 3001 |fr]fEEH z|lc|B 48 clz|a 40 Al E|D 45 133.0| 120 | 253.0
3| 3004 |FFEIE Elc|s 28 z|F|A 37 Al z | D 45 110.0| 180 | 290.0
4| 3003 |EERR pDlc|z 43 Dlc|z 51 p| E|cC 70 1640| 210 | 374.0
5| 3008 |ZRFEfm Elc|a 38 clpla 50 Bl F|z]| 35 123.0] 210 | 333.0
No. of correct answers 31113 21114 1 3 3
No. of correct answers in % 60 | 20 | 60 40 120180 20 ] 60 | 60
Average time used 43.4 49.4 53.4
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HHf:  2017-JAN-01
Class FAMILY TempO Station 1 Station 2 Station 3 Answer
E D Z 17| B F Z 18 ]|]C E Z 19 JUsed Penalty |Total
Rank Name 1 2 3 Sec|] 1 2 3 Sec]|1 2 3 Sec JTime Time [Time
1| 3011 [FEEJE / LUNG KA CHUN / E|D|z|3 |BJE|Zz] 42 |c| E |Zz] 34 ] 1110| 30 141.0
2| 3010 [FEEILIS / KEVIN CHAN / JUSTIN CHAN E|D|B|[56 | B|F|[z]3]c] E [B] 23 | 1100]| 60 | 170.0
3| 3012 [FE/)N4L / LUNG KA WAI / E|D|z|[8 |B|C|[z]9 |]D]|] Cc [B ] 65 | 2470]| 120 | 367.0
4] 3015 |PRESE / LAM WAI CHUNG RYAN/LAMTSZYIURACHEL) E [F|c |17l c [F|B| 60 |c| E | D | 64 | 241.0] 150 | 391.0
5{ 3013 [#Af% = / LAM ON POK AMBROSE / LAM LONG YINAARON E (DB |111 | B [F|[Cc] 90 |z]| E | D] 8 | 2810| 120 | 401.0
No. of correct answers 51412 4 1313 3 4 1
No. of correct answers in %] ] 100 | 80 | 40 80 60160 601 80 | 20
Average time used 81.0 63.8 53.2
N
XEEH - RE
FHE:  2017-JAN-01
Class FAMILY TempO Station 1 Station 2 Station 3 Answer
E Z Bl 14D Z A 15|z E D 16 JUsed Penalty |Total
Rank Name 1 2 3 Sec|l 1 2 3 Se]1 2 3 Sec JTime Time |Time
1| 3010 |1 / KEVIN CHAN / JUSTIN CHAN Elz|[B|[3 |D|z|A]5]|]A|lD|[cC]| 22 ] 1140 9 | 204.0
2| 3011 |FEEE / LUNG KA CHUN/ E|lCc|z| 48 |ID|E|A] 41 |A]| E [ D| 37 | 126.0] 120 | 246.0
3| 3012 [FE/)N4L / LUNG KA WAI / z|b|lc|s52|Blz|A]l38]|D| 2z [Cc ]| 48 | 1380| 210 | 348.0
4] 3015 |HESE I LAM WAI CHUNG RYAN/LAMTSZYIURACHELl F (A (B | 76 [ D |E|A] 72 |c | E | E | 56 | 204.0| 150 | 354.0
5| 3013 [#k% = / LAM ON POK AMBROSE / LAMLONG YINAARON E |D|B| 51 |z |c|z] 65 | A| D | z | 58 | 1740| 210 | 384.0
No. of correct answers 31113 31214 0 2 1
No. of correct answers in %] | 60 | 20 | 60 60 | 40180 0 40 | 20
Average time used 53.2 53.8 44.2




